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SSC MOCK TEST – 163 (SOLUTION)

1. (C) As,
18 : 153  (1 + 8) × 18 – (1 + 8) = 153
Similarly,
24 : 138  (2 + 4) × 24 – (2 + 4) = 138

2. (B) As,

 (2 + 1 + 20)  = (23) = 529 
2 

BAT : 529  B    A    T    

Similarly,

 (18 + 5 + 4) = (27)  = 
2

729
RED : 729  R    E    D    

3. (A) As, Kathakali is the cultural dance of
kerala.
Similarly, Sattriya is the cultural dance
of Assam.

4. (C) Except 'Bee', others are bird.
5. (C) Except '49 – 81', others are combination

of square of prime number.

6. (D) 
E   G   J

+2 +3

L   N   Q

+2 +3

D   F    I

+2 +3

Q   S   U

+2 +2

7. (B) Landfill, Language, Lavatory, Liberal,
Licence.

8. (A)
6,  15,  48,  141,  426,  1275

×3–3 ×3+3 ×3–3 ×3+3 ×3–3

9. (B) In this next word in starting with the
last two letters of the previous word.

\ Next word is umbrella.

10. (D) 13

12

11

9

8

Sandeep

Rahul

Total no. of People
= 13 + 11 + 8 + 2
= 34

11. (A) Let the age of mother and Deepak be M
and D.
A.T.Q.,
M = D + 3D = 4D
After 8 years,

M + 8 =  
5

D 8
2



 (4D + 8) 2 = 5D + 40
 8D + 16 = 5D + 40.
 3D = 24
 D = 8, M = 32

A.T.Q.,
When, D = 8 + 8 + 8 = 24 years
M = 32 + 8 + 8 = 48 years

\ Mother's age will be 2 times of the age of
Deepak.

12. (C) Word 'MATURE' cannot be formed by
using the letters of ANTEPENULTIMATE.

13. (B) As,

P     E     R

18    05    16

S     O     N

14    15    19

and  

I     N     S

19    14   09

U    L     T

20    12    21

Similarly, J     U     K

11    21   10

I    N     G

07    14    09
14. (B) 49 W 28 g 4 a 13 b 18

After interchanging the signs as per given
details,
49 – 28 ÷ 4  × 13 + 18

= 49 – 7 × 13 + 18
= –91 + 67
= –24

15. (C) As,
132 + 82 + 32 = 96  169 – 64 – 9 = 96
and, 162 + 72 + 92  256 – 49 – 81 = 126
Similarly,
192 + 112 + 52 = 215 361 – 121 – 25
= 215

16. (B) As,
(7 × 8 × 4) – (7 + 8 + 4) = 205,
(9 × 3 × 6) – (9 + 3 + 6) = 144 and
(6 × 11 × 3) – (6 + 11 + 3) = 178
Similarly,
Let the missing number be x
A.T.Q.,
(7 × x × 5) – (7 + x + 5) = 192

 35x – (12 + x) = 192
 34x = 204
 x = 6

17. (D)
I. 23 × 5 < 19 + 28 + 11
 115 < 58 (False)
II. 23 – 5 + 19 = 28 + 11
 37 = 39 (False)
III. 23 + 5 – 19 = 28 – 11
 9 = 17 (False)
IV. 23 × 5 > 19 + 28 – 11
 115 > 36 (True)
\ Expression become correct by putting

mathematical operators of option (D).

18. (C) Fruit Brick
Tree

× × Water × Mango

I. True (As possibility is there)
II. Can't say (As possible but not definite)
III. Can't say (As possible but not definite)
\ Conclusion I and either conclusion II or

conclusion III follows.
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19. (C) A+ B+

C D+ E–

brother

father son

Wife

\ E is sister-in-law of C.
20. (B) Required number of people is = 473 + 894

+ 972 = 2339
21. (C)
22. (A)
23. (C)
24. (B)
25. (C) T R U S T

    
42, 32, 95, 33, 87

26. (C) A term deposit is a cash investment held
at a financial institution. In this, money
is invested for an agreed rate of interest
over a fixed amount of time, or term.  The
deposited amount in the term deposit
account cannot be liquidated before the
end of the term without a notice or loss
of potential interest. It is called known
as a term deposit.

27. (C) Ways and means is the load of advances
provided by the RBI to States
Government banking with it to help them
to tide over temporary mismatches in the
cash flow of their receipts and payments.
This is guided under Section 17(5) of RBI
Act, 1934.

28. (D) A writ requiring a person under arrest
to be brought before a judge or into court,
especially to secure the person's release
unless lawful grounds are shown for their
detention. The writ of habeas corpus is
known as "the great and efficacious writ
in all manner of illegal confinement",
being a remedy available to the meanest
against the mightiest.

29. (B) The time immediately following the
Question Hour has come to be known as
"Zero Hour". It starts at around 12 noon
and members can, with prior notice to
the Speaker, raise issues of importance
during this time.

30. (A) The Mansabdari system was the
administrative system of the Mughal
Empire introduced by Akbar. The word
mansab is of Arabic origin meaning rank
or position. The system, hence,
determined the rank of a government
official.

32. (C) Portugal established a colony in Goa in
1510, bringing with it not only
Christianity but European culture. Not
until 1961 did the Portuguese leave,
giving Goa its freedom. On December 19,
1961, Goa officially became part of India
and two years later, held its first general
election.

33. (A) Astronomical unit is the average distance
between the earth and the sun,
approximately 1.5 × 1011 m.

34. (A) The Union Finance Minister Shri Arun
Jaitley announced his first General
Budget 2014-15, declaring Kisan TV,
which is dedicated in the current
financial year for the interest of
agriculture and allied sectors. It is for
the farmers to broadcast real-time
information about new agricultural
techniques, water conservation, organic
and farming etc.

36. (D)
• Sublimation is the transition of a

substance directly from the solid to the
gas phase, without passing through the
intermediate liquid phase.

• Evaporation is a type of vaporization
that occurs on the surface of a liquid as
it changes into the gas phase before
reaching its boiling point.

• Freezing is a phase transition in which
a liquid turns into a solid when its
temperature is lowered below its freezing
point.

• Melting is the process of changing
something from a solid into a liquid. It is
the opposite of freezing.

37. (B)
• RBC: Human red blood cells are formed

mainly in the bone marrow and are
believed to have an average life span of
approximately 120 days.

• WBC: The lifespan of white blood cells
ranges from 13 to 20 days.

• Platelet: Life span of a platelet is about
10 days. The normal platelet count in the
human blood ranges from 150,000 to
450,000 per micro liter of blood.

38. (C) Red light is used in traffic signal, because
it's the color with the longest wavelength
so it can be seen from a greater distance
than other colors.

39. (B) Liquefied Petroleum Gas or LPG consists
mainly of propane, propylene, butane,
and butylene in various mixtures. It is
produced as a by-product of natural gas
processing and petroleum refining.

41. (D) Madhubani is a prominent folk painting
of mithila region in Bihar. The name
Madhubani derives from a madhubani
district of Bihar where it (the arts)
practices most.

42. (C) Ecology is the branch of sciences which
deals with the study of organisms in
relation to environment.

43. (D) Sam Manekshaw was the first field
marshal of India, and was conferred the
rank in January 1973. The second was
Kodandera M. Cariappa.
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45. (D) The Minister of State for Human
Resource Development and Water
Resources, River Development and
Ganga Rejuvenation, Dr. Satya Pal Singh
has inaugurated the 24th Delhi Book Fair
and 20th Stationery Fair, at Pragati
Maidan, in New Delhi on August 25,
2018.

46. (A) The book "Atal Ji Ne Kaha" on the BJP
patriarch and former Prime Minister Atal
Bihari Vajpayee was launched by Prime
Minister Narendra Modi. It has Authored
and compiled by Brijendra Rehi.

47. (D) Correct chronological order:
1. Simon Commission, group appointed in

November 1927 by the British
Conservative government under Stanley
Baldwin to report on the working of the
Indian constitution established by the
Government of India Act of 1919.

2. The First Round Table Conference was
held between November 1930 and
January 1931 in London. The first
session had 73 representatives, from all
Indian states.

3. Gandhi-Irwin pact was signed between
Mahatma Gandhi and the then Viceroy
of India, Lord Irwin on March 5th, 1931.

4. The Communal Award was announced
by the British Prime Minister, Ramsay
MacDonald, in August 1932. This was
yet another expression of British policy
of divide and rule.

48. (C) A material that is neither a good
conductor of electricity nor a good
insulator, but has properties of electrical
conductivity somewhere between the two.
Silicon and germanium are good
semiconductor materials.

50. (D) Saffron is obtained by yellow stigma and
style (the female reproductive part) of
autumn-flowering perennial plant,
Crocus Sativus that usually grows in the
Sub-Himalayan region.

51. (C) Let the marks obtained be 12x, 17x and
3x

Total marks = 32x

After increament, total marks

= 12x × 
120

100
+ 17x + 

130

100
 + 3x × 

150

100

= 41x

Required percentage = 
41 32

100
32

x x

x




= 
900

32
 = %

1
28

8

52. (C) This month has 5 Sunday and 5 Monday.

Required average = 
5 480 250 20

25

  

= 
7400

25
 = 296

53. (B) Let required width = x

Area of cross-road = 80 × 50 – 3139 = 861

 80x + 50x – x2 = 861

 x2 – 130x + 861 = 0

 x = 123, 7

 x = 7m

54. (B)
2sin 1 sin cos

1 cos sin 1 sin cos

x x x

x x x x

 


   

= 
 

 2 2

2sin 1 sin cos

1 sin cos

x x x

x

 

 

= 
 

2 2

2sin 1 sin cos

1 sin 2sin cos

x x x

x x x

 

  

= 
   

2 2 2 2

2sin 1 sin cos

sin cos sin 2sin cos

x x x

x x x x x

 

   

= 
   

 2

2sin . 1 sin cos

2sin 2sin

x x x

x x

 



 2 2sin cos 1x x 

= 
   

 
2sin 1 sin cos

2sin 1 sin

x x x

x x

 




1 sin cos

1 sin

x x

x

 


 = t

55. (C) Required H.C.F of fraction

= 
H.C.F of Numerator

L.C.M of Denominator

= 
3

1400

56. (A)

C

15

A

D

B

12

O

13

AO = 
2

AB
 = 12 cm.

In DAOC and DAOD

CD = CO + OD.
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and,

CO =    2 2
15 12 ,

= 225 144

= 18
= 9 cm

OD =    2 2
13 12

= 169 144

= 25

= 5 cm
\ CD = 9 + 5 = 14 cm

57. (B) Total area to be painted = 2 (l + b) × h
= 2 (15 + 12) × 9
= 486 m2

Required amount = 486 × 9.5
= `4617

58. (C)
60

100
 (x – y) = 

50

100
 (x + y)

 6x – 6y = 5x + 5y
 x = 11y

Required Percentage = 
1

100
11



= 
1

9 %
11

59. (A) sinb = 
2 –1

3

x

x
(Given)

cosb = 

2

2 1
1

3

x

x

 
  
 

       [\ sin2q + cos2q = 1]

 cosb = 
1

3

x

x



cotb = 
cos

sin




 = 

1

3

2 1

3

x

x

x

x




 = 

1

2 1

x +

x -

60. (C)

x

30° 60° 30°

aa

A

B
D C

In right triangle DAC,

tan 60° = 
a

x
  3  = 

a

x
 x = 

3

a

61. (A) x (x + y + z) = 9 ...(i)
y (x + y + z) = 16 ...(ii)

z (x + y + z) = 144 ...(iii)
Adding equation (i), (ii) and (iii),
(x + y + z) (x + y + z) = 9 + 16 + 144

 (x + y + z)2 = 169
 x + y + z = 13 ...(iv)

putting equation (iv) in equation (ii),

y = 
16

13
.

62. (B) Volume of hemisphere = 
2

3
p  3 39 6

= 
2

3
× p (729 – 216)

= 
2

3
p. 513

= 342p cm3

\ Required weight = 342p × 12
= 4104p gm

63. (D)

Y

X

Z

S T

40°

140°
75°

R

P o
Q

 PQR = 40° (Vertically opposite)
In DSOT,

 OST = 180° – 140° = 40°

 40° + 75° +  STO = 180°

 STO = 180° – 115°
= 65°

 OPQ =  STO = 65°
(alternate interior angle)

DPRQ

 RPQ = 180° – 65° = 115°

 PRQ + 115° + 40° = 180°

 PRQ = 180° – 155°
= 25°

64. (D) Let the amount invested at 3% rate of
interest be x.
Now, ATQ.

3 1

100

x  
= 

 60000 7 1

100

x 

 3x = 420000 – 7x
 x = 42000

Interest earned = 
42000 3 1

100

 

= `1260
Total interest earned from both
investement = 1260 × 2 = `2520
Average R.O.I is

2520 = 
60000 1

100

R 

 R = 4.2%
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65. (C)
D

A

B

C
O

37°

In DABC

 CAB =  ACB = 37°
(\ AB = BC {Given}]

 ABC = 180° – 37° – 37° = 106°.
 ABCD is cyclic quadrilatral
\ Sum of opposite angles is 180°

Required angle = 180° – 106°
= 74°

66. (A)
3

4
x  + 

4

3x
 = 2

 9x2 + 16 = 24x
 9x2 – 24x + 16 = 0
 9x2 – 12x – 12x + 16 = 0
 3x (3x – 4) – 4(3x – 4) = 0
 (3x – 4) (3x – 4)

 x = 
4

3

Required value = 

4 5
4 4

3 2
3 3

   
      

= 
256 2048

27 243


= 
16 17

9 3

67. (A) 4 3 , 5 5 , 10 7 , 2011

  
1

43 ,  
1

55 ,  
1

107 ,  
1

2011

  
1

5 203 ,  
1

4 205 ,  
1

2 207 ,  
1

2011

  
1

20243 ,  
1

20625 ,  
1

2049 ,  
1

2011

 5 5  is the greatest number.

68. (C) C.P. of 1 orange = `
33

6

SP of 1 orange = `
25

4

Profit = SP – CP = 
25

4
 – 

33

6
 = 

75 66

12



= 
9

12
 = `

3

4

Profit % = 

3

4 100
33

6



= 
150

%
11

 or 
7

13
11

%

69. (A) Let the co-ordinates of C be (x, y)
co-ordinates of centroid

3 = 
8 0

3

x 
  x =1

4 = 
7 0

3

y 
 y =5

\ Required co-ordinates = (1, 5).
70. (D) Ratio of speed of A, B and C is

A B C

(2 1) 3

(3 1)

:

:

6 : 3 : 1 Ratio of speed

1 : 2 : 6 Ratio of time

C covers 6 units in 96 minutes

1 unit  
96

6
 = 16

\ Required time = 16 minutes.
71. (B) Let the speed of boat in still water be x

and the speed of stream be y
A.T.Q.,

D

x y
 = t — (i) and, 

D

x y  = 3t — (ii)

By comparing equation (i) and equation (ii),
(x + y)t = 3t (x – y)

 4y = 2x

\
x

y  = 
2

1

72. (C) Required percentage = 
810 720

100
720




= 12.5%
73. (B) Required percentage

= 
720 730 740

100
770 800 810

 


 

= 
2190

100
2380



  92%

74. (B) Required percentage = 
740 770

100
2000




1510

20


= 75.5%
75. (A) Required difference = (730 + 770 + 810) –

(720 + 740 + 800) = 50
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MEANINGS IN ALPHABETICAL ORDER
 Word Meaning in English Meaning in Hindi

Acrophobia  abnormal dread of being in a high place : Å¡pkbZ ls Mj
 fear of heights

Algophobia morbid fear of pain 'kjhj esa d"V gksus dk Mj
Archaeology a science that deals with past human life and iqjkrÙo

activities by studying the bones, tools, etc., of

ancient people

Awash flooded with or covered by water or another liquid cgrk gqvk
Catastrophe a terrible disaster fouk'k
Confer to discuss something important in order to ijke'kZ djuk

make a decision

Cowardice fear that makes you unable to do what is dk;jrk
right or expected, lack of courage

Embrace to hold someone in your arms as a way of xys ls yxkuk
expressing love or friendship

Entomology a branch of zoology that deals with insects dhV foKku
Erstwhile in the past igys dk
Former existing in the past igyk
Immutable not capable of or susceptible to change vifjorZuh;
Impel to cause (someone) to feel a strong need or izsfjr djuk

desire to do something

Intrepid feeling no fear, very bold or brave fuMj
Ostracize to not allow (someone) to be included in a lekt ls ckgj fudky nsuk

group, to exclude (someone) from a group

Psephology the scientific study of elections pquko fo'ys"k.k
Punitive intended to punish someone or something naMkRed
Quash to nullify especially by judicial action fu"izHkko djuk
Repeal to officially make (a law) no longer valid fu"izHkko  djuk
Resolute very determined, having or showing a lot lkglh] vVy

of determination

Rift a situation in which two people, groups, etc., eueqVko
no longer have a friendly relationship

Rueful showing or feeling regret for something done i'prkih
Spurn to refuse to accept vLohdkj djuk
Temerity the quality of being confident and unafraid of nqLlkgl

danger or punishment especially in a way that

seems rude or foolish

Transmute to completely change the form, appearance, or cny tkuk
nature of (someone or something)

Vagrant a person who has no place to live and no job ?kqeDdM+
and who asks people for money

Verbatim in exactly the same words 'kCn'k%
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SSC MOCK TEST - 163 (ANSWER KEY)

1. (C)
2. (B)
3. (A)
4. (C)
5. (C)
6. (D)
7. (B)
8. (A)
9. (B)
10. (D)
11. (A)
12. (C)
13. (B)
14. (B)
15. (C)
16. (B)
17. (D)
18. (C)
19. (C)
20. (B)
21. (C)
22. (A)
23. (C)
24. (B)
25. (C)

26. (C)
27. (C)
28. (D)
29. (B)
30. (A)
31. (C)
32. (C)
33. (A)
34. (A)
35. (C)
36. (D)
37. (B)
38. (C)
39. (B)
40. (A)
41. (D)
42. (C)
43. (D)
44. (B)
45. (D)
46. (A)
47. (D)
48. (C)
49. (B)
50. (D)

51. (C)
52. (C)
53. (B)
54. (B)
55. (C)
56. (A)
57. (B)
58. (C)
59. (A)
60. (C)
61. (A)
62. (B)
63. (D)
64. (D)
65. (C)
66. (A)
67. (A)
68. (C)
69. (A)
70. (D)
71. (B)
72. (C)
73. (B)
74. (B)
75. (A)

76. (C)
77. (B)
78. (B)
79. (C)
80. (D)
81. (D)
82. (C)
83. (D)
84. (C)
85. (C)
86. (B)
87. (C)
88. (A)
89. (D)
90. (C)
91. (B)
92. (C)
93. (C)
94. (B)
95. (B)
96. (B)
97. (D)
98. (C)
99. (A)
100. (C)

Note:- If your opinion differs regarding any answer, please message the mock
test and question number to 8860330003

Note:- Whatsapp with Mock Test No. and Question No. at 7053606571 for any of the doubts.
Join the group and you may also share your suggestions and experience of Sunday Mock Test.

Note:- If you face any problem regarding result or marks scored, please
contact  9313111777

76. (C) Replace 'bought' with 'brought'.
1st Form 2nd form 3rd form

• Buy ([kjhnuk) bought bought

• Bring (ykuk) brought brought
Hence 'brought cheer' will be the
appropriate use.

77. (B) Replace 'district' with 'districts'. The use
of 'several' in the sentence indicates that
'district' should be in plural form.

78. (B) 'Practise' is the correct option.

• Practice (Noun) : (vH;kl)
• Practise (Verb) : (vH;kl djuk)

And according to the meaning of the
sentence we need a 'verb' here. The
remaining two options 'compose' and
'adopt' do not match with the meaning of
the sentence.

79. (C) 'The other' is the correct option. 'The other'

is used for the second of two things or
people. While 'another' is used for 'one
more' one additional, an alternative.

88. (A) 'Serendipity' is the correctly spelt word.
'Serendipity' means luck that takes the
form of finding valuable or pleasant things
that are not looked for. (vkdfLed ykHk)

89. (D) 'Idiosyncrasy' is the correctly spelt word.
'Idiosyncrasy' means 'an unusual way in
which a particular person behaves or
thinks' (lud] fo'ks"k y{k.k)

90. (C) 'to prolong life' is the correct option.
'Prolong' means to make (something) last

or continue for a longer time (yEck ;k nh?kZ
djuk). Hence 'to prolong life' is the best
suited with the meaning of the sentence.

91. (B) 'Developing' is the correct option.
'Preposition' is followed by 'V+ing' form.


